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Контрольная работа № 6

1 вариант

1. Разложите многочлен на множители:

а) 
[image: image1.wmf];
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в) 
[image: image2.wmf];
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б) 
[image: image3.wmf];
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г) 
[image: image4.wmf].
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2. Сократите дробь:   а) 
[image: image5.wmf];
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б) 
[image: image6.wmf].
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3. Решите уравнение 
[image: image7.wmf].
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4. Докажите тождество 
[image: image8.wmf])
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5. Вычислите наиболее рациональным способом 
[image: image9.wmf].
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2 вариант

1. Разложите многочлен на множители:

а) 
[image: image10.wmf];
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в) 
[image: image11.wmf];

16

9

2

-

a


б) 
[image: image12.wmf];

2

6

3

2

n

mn

n

m

-

+

-


г) 
[image: image13.wmf].
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2. Сократите дробь:  а) 
[image: image14.wmf];
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б) 
[image: image15.wmf].
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3. Решите уравнение 
[image: image16.wmf].
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4. Докажите тождество 
[image: image17.wmf])
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5. Вычислите наиболее рациональным способом 
[image: image18.wmf].
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